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17 | N |None 3DN4 130 3NS-3 150 280 7 NS90 1 6
18 E NS 2SN3 140 2SN3 140 NS100 1 -1
19| S | EW 4DXN-1 100 4HE-1 100 200 5 NS100 -5
20 | W |Both 2HE2 110 3NW-1 100 210 5 EW200 3 -7
21 N NS 3NW4 430 3NW4 430 EW370 -2 2
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i t¥z2% | NS | EW | 2x%3223% | NS | EW | #5 | #4 |#5] #4 | #5 ] #4 || Mean | Ns EW
17 | N [None 3NS-2 100 2SS2 110 210 5 NS90 -5 -1
18 E NS 2SN2 110 2SN-1 100 210 5 NS100 5
19| S | EW 5DXS-2 300 4DN-1 50 250 6 NS100 -9 4
20 | W |Both 3NW-2 200 3NW3 600 800 13 EW200 9 9
21 N NS 3NW5 460 5DE5 400 60 2 EW370 -3 1
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17 | N |None 2SS2 110 3NS3 400 290 7 NS90 1 -7
18 E NS 2SN3 140 2SN3 140 NS100 1 -1
19| S | EW 3DXN3 470 4HXE-3 800 330 8 NS100 9 -12
20 | W |Both 3NE-2 200 3NW3 600 800 13 EW200 9 9
21 N NS 5DES5 400 6DE-1 50 450 10 EW370 -1 9
22 E EW 1NE1 90 1NE2 120 30 1 EW20 -2 3
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1
R ! NS | EW | 29223 NS | EwW | #9 | #8 | #9 | #8 | #o | #8 Mean NS EW
17 | N |None 2SN2 110 3CXE-2 300 190 5 NS90 1 -5
18 | E | NS 3CW-3 150 1NE-2 100 50 2 NS100 2
19| S | EW 4DS-1 50 4DS-1 50 NS100 -4 4
20 | W |Both 5CW5 600 5CE5 600 EW200 | -9 9
21| N | NS 3NW3 400 5DE5 400 EW370 | -1 1
22| E | EW 3NE-2 200 1NE-1 100 100 3 EW20 6 3
23| S |Both 3NW3 600 3NW3 600 EW610
24 | W |None 4HS4 420 4HS4 420 NS420
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2 HVP 10.00 10.00
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